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Year Four answers 29/6/20
Maths

Fluency

Place the amounts on the r-*mber line and round to the nearest

pound. 2 1 3
. £3 £350 £4
- y 2 A

by rounding each amount
and finding the total.

Annie has £15 to spend at the theme park.

She rides on the roller coaster which costs £4.34
Then she rides on the big wheel which costs £3.85
Approximately how much money will she have left?
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£3+£12=£15 |

FA+£4=£8
£15-£8=£7

Reasoning
Mo buys * The socks could
He estimz (o[0)
he'll spenc cost between ~

£3.50 and £4.49
¢4 + €5 Ihe gloves could '
cost between
What coul £4.50 and £5.49 e socks
and gloves have been?

It depends. If the
Mo has £12
H:saa;s he has er socks costs £3.50
three pairs of socl ©© £4, he will
If the socks cost
£4.01to £4.49, he

Do you agree?
will not.

Explain why.

Today, you are going to be estimating amounts of money. Remember when we estimate, we are not using the exact amount
but thinking about a number which is close to it. By estimating we will make the numbers easier to use. You might estimate
amounts when trying to work out if you have enough money to buy items in a shop. For example you might have £10.00 and
want to buy something which is £3.75 and £5.20. If we use estimating we can add together £4.00 (as it is the closest pound

to £3.75) and £5 (as it is the closest pound to £5.25). £4.00 + £5.00 = £9.00 therefore | will know that | have enough money to
buy the items. To estimate the amounts you need to round the amounts up or down to the nearest pound. If you have less
than 50p in the amount, you round down. If you have 50p or more in the amount, then you round up to the next pound. By
placing amounts on a number line, you can see which pound your amount is closest to.

Mastery

ETommyaar B

Amira - computer j
6 game and rugby
e Dall
Car _
7 Eve - panda
but gets change from £5
Amir buys two toys which total
approximately £25
Eva's toy costs 5 p more than the
number the cost rounds to.

If you had £30, what combinations could

you buy and wha \/zrinys answers
approximately ge

English

Heracles and Orpheus.

1. Jason trained to be a hero with Chiron. What kind of creature was Chiron? Chiron was a centaur.

2. Why didn’t Hera like Jason’s uncle Pelias? Hera didn’t like Pelias because he forgot to include her
when he made a sacrifice to the gods.

3. Why was Pelias afraid of Jason? Pelias was afraid of Jason because he had been warned that a
young man wearing only one sandal would be the next king. Jason lost one of his sandals in the
river so when Pelias first saw him he was only wearing one.

4. What is a fleece? The fleece in this story is the wool of the magic ram that saved Phrixus.

5. What was special about the ship ‘The Argo’? ‘The Argo’ had a magical figurehead made of oak at
the front of the ship that could talk. The goddess Athena put it there to offer advice.

6. How many of the Argonauts do we already know? We already know two of the Argonauts-

7. What happened to Heracles? Heracles got left on an island because he wouldn’t leave after his
friend, Hylas, went missing there.
8. How do you think Jason and the Argonauts will defeat the Harpies? Read the next part of the
myth that I've uploaded today and see if you were right!

Foundation Subject — Art

This week for your art, you are going to continue drawing insects but this time have a go at using some
colour also. Please look at the ‘Art lesson slides’ which have been uploaded to explain your task. | would
love to see some of your artwork in the comments on Facebook!




